Ubungen fiir die Klausur am 28.02.2012 Martin Wellmann

Losungen Al bis A3

la)  f(x) = (—20x — 20) - e~* "2 gx)=e*-(11+x)
B (x) = 30x2e** + 10x3 - 2x - €% = e** (30x2 + 20x%)
1b) F(x)=-5-e"*+¢ g(x):—xz—x+1296(x)=—§x3—%x2+12x+c
h(x) :x§+2x_2 > H(x) =§x§—2x_1 =§W—§+c
2a) z=e*>z2-z2=2(z-1)=0 2>z =e*=0 entfallt; z,=e*=1-x=0
2b) z=e*>2z2-3z-4=0 > z; = —1 entfillt; z, = e* = 4 -> x = 1n(4)
2c) z=e*>z>-5z+4=0 >z,=e*=1->x=0;z,=e*=4->x=1In(4)
3a) log, 128 = “;f;—:ig =1 3p) 8 = (8§)4 =8 =2 =16 3)e?® = (eM®) =32 =9




